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2AM: A5

mu: FENL U 2o
Ciel: A=WH CLEED
_ _ _ HEC
SA BB CR(SH) - NRAY - A S 01l & o L RS2
ETERTE 7,000,005 23] 2,000
O3&3l K 9,400
S A 3,000,000 <23 6,000
-0 A 70,000& 1004 2 *23] 1,400
- RolE M 1,000, 000& *23] 2,000
OLETEH STARY T2 8
10,000, 000& 10,000
202 O4dl 20,000 0 20,000
04 =H3tHbI 20,000 0 20,000
OE AT ot
20,000, 000& 20,000
203 YRF& 1,000 1,000 0
03 AHF=ZAE 1,000 1,000 0
OMEBHIE&ALS 1,000, 000& 1,000
ASHE HAS 13,300 12,200 1,100
201 LBt2YY 1,000 1,400 A400
01 At 2eld] 1,000 1,400 A400
OAZBAUT DS A LA
100, 000& *1H *23] 200
OMH 2m4 29 800
SAASS AlM(LEHT)
10,000 204 200
222 ME 600& *1,0005 600
203 YREAY| 800 800 0
03 AIMFAAHR =LY 800 800 0
OH=HE AHag AHFZ 800,000& 800
301 utEaz 1,500 0 1,500
10 SAABIEAZ 1,500 0 1,500
OMsH 254 29 1,500
AERE(W) M= B a
150,002 » 1094 1,500
307 2IZ2t0IA 10,000 10,000 0
05 QIZIREZ 10,000 10,000 0
OA=A gRUE==2 10,000,000& 10,000
A2 AHH (A2 ) 18,228 13,620 4,608
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